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DI Pie Chart No. 67

Directions: Study the following pie chart carefully and answer the questions given beside.

The following chart shows the distribution of students in different streams in a college and the
number of students who passed from this college.

Total students = 3600

= MBA

B ENGINEERING
= MEDICAL

® ARTS

B COMMERCE

Passed students = 2160

= MBA
® ENGINEERING
= MEDICAL
= ARTS
= COMMERCE
1. Find the ratio between the number of students in arts and number of students who
passed in arts.
A.3:4 B.5:3 C.6:7 D.2:5 E.3:7
2. What percentage of students in engineering stream passed?

A. 48.66% B. 42.66% C. 46.66% D. 45.66% E. 44.66%




3. If 800 more students joined the college in new stream Journalism and increasing the
number of passed students by 33.33%, the find the percentage of students failed in

college.

A. 37.66% B. 32.65% C.33.33% D. 34.54% E. 36.54%

4. If next year, 1152 students joined the college and thereby increasing the number of
passed students by 10%, then find the percentage of students passed in the college
next year.

A. 50% B. 48% C.42% D.56% E. 49%

5. Find the average of the number of students passed in MBA, Medical and Commerce
streams.

A. 315 B. 327 C.318 D. 369 E. 396

Correct Answers:
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Explanations :

1.

Number of students in arts = 10% x 3600 = 10 x 36

Number of students passed in arts = 10% x 2160 =1 x 216

. 36
Reqd.rat|o—10x216—5.3

Hence, option B is the correct answer.

The ratio of the total number of students to the number of students passed

Number of students in engineering =45 x5
Number of students passed in engineering = 35 x 3

100
45 x5

Reqd. % = 35 x 3 x
= 46.66%

Hence, option C is the correct answer.

Total appeared students = 3600 + 800 = 4400

1 4
Passed students = 2160 (1 + 5) = 2160 x 3" 2880

Failed students = 4400 — 2880 = 1520

100
Reqd. % = 1520 x =34.54%

4400

Hence, option D is the correct answer.

Total appeared students = 3600 + 1152 = 4752

Total passed students = 2160 + 216 = 2376

100
Reqd. % = 2376 x

= 509
4752~ %%

Hence, option A is the correct answer.




Passed students in MBA = 5% x 2160

Passed students in Medicine = 20% x 2160

Passed students in Commerce = 30% x 2160

2160

Reqd. average = {5 + 20 + 30}% x
=396

Hence, option E is correct.
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